AO —15B - 01

DEPARTMENTAL EXAMINATION
November 2015

DEPARTMENTAL TEST FOR ACCOUNTS OFFICERS - FIRST PAPER
(With Books)

Time — Three hours
neu« - 3k&.

_ Maximum Marks: 100
MATgEr KA¥bg©oTY-100

the end of the answer books will not be valued.

Note: Fwag:

(1) | Answer any five questions only. VnjD« 12J édhifSiF éilaéjfl«

(2) | Candidates are allowed the option to answer | NJOEhsSETY jaényh (m) M8»yoAnyh
the paper either in English or in Tamil or even | MSyJ TU@_'_—« fy2njh eéilaéjf
to answer the paper partly in English and | MDKAiF¥ELYsJ.
partly in Tamil.

(3) | Answers to whole questions in excess of the | nJ § tahd voAaiitTik asfahft
prescribed number of questions appearing at | € 1 IbaGJ«  gErsAS  m?j aifahd

éilfes filAahdthiw kA¥OL brEa¥gl
Kh£1hJ.

(4)

Answer should be brief and to the point and

eillfY RUjTkhfl« nfFYéjF ccajhfl«

need not be a verbatim reproduction of printed Tuejs mtAac.
pages.
Marks will be deducted for bad handwriting/

bad presentation.
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Marks
1. A paper mill has been sanctioned with a demand of 1750 KVA. The 20
consumption during the bill month 09/2015 is 809240 units. This consumption
includes consumption of 205900 units and 243840 units during peak hour and
night hour respectively. The captive wind generation available for adjustment is
250000 units during night hour. The recorded demand during 09/2015 is 1610
KVA. Calculate the assessment amount for the bill month 09/2015.
@@ &M1HE Qamihammeouilsr eUuafdsUL L CaHLL 1750 KVA  g@Lb.
09/2015841d  IHSHMHGFWI Lwieel LLemey 809240 Wi Baem@GLd. Qs
Lwies’ L emefled (WwemmG 205900 wietli Ba&em wmmid 243840 wi el (Baeit
2 §& CpIL WOHMID @rey CoHY LW’ LLemydhel CEIHSHIETENG. STHOIEN6V
6T &&6H Qe Gy Lwel LLemelled &flalL (adjust) 250000 wieufllseit
o eenig). 09/2015 wIHSHeL uHe| CQFEWLLLL GCsLly 1610 KVA g@Lb.
09/2015 WIGHSEHMSTET L6k L 6B CQHTengHenil SH6ns(h s.
2.a. Calculate the service tax liability to TANGEDCO in the following cases:
Q) Advocate fees payment of Rs.1,50,000/- in September 2015 5
(i) Hiring of vehicle bill of Rs.20,000/- for September 2015 5
Speumd  Hepeysaied  HOHBTEH e 2 MHUGH WLOMID  USKFLOTED
&50&556 Caemeal afls LS SLUUTE SHuSHE(Hs.
(i) QeuLibuy 2015 wWMEHHL QEFVISHLILLL  QUNSHGMMEHTI6T &L L wILd
em1,50,000./-
(i) QeaLbuy 2015 LIHSHHL QIPRIGLILLL.  UTSHET QITL6M& LI IqLied
em,.20,000 /-



3.a.

4.a.

5.a.

Mention the rates of Income Tax applicable on salaries drawn by the employees
and pensioners for the financial year 2015-16.
2015-16gyld  HHuwimeioiiged LD
PUALEWSSMTEEES — QUTGHSIH6TD
&G GHmG GOILIN{H'S.
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QU(IH LD 6T
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Explain the kinds of grievances that can be taken up by the CGRF.

BetT HISTCUTT GODSTILMUSHDNS 6THHFH CFLELEFalgl  GsmME6eMedt
cUMBSHMET N6l 5.

What is the jurisdiction of the CGRF?

6T HISTCEUTT Gemm STULIMLISSH6T SST) 6T606M6V 6T60T60T?

Explain the LT Solar Roof Top Net Metering.

Gome(pds Cumeasmy Gilw 061 Serelulles By seral’ G GHSS
I [311:76%: 3

A LT consumer has deposited an amount of Rs.1,00,000/- on 07.05.2014
towards additional security deposit. Calculate the interest to be credited to the
consumer as on 31.03.2015. The interest rate for the F.Y. 2014-15 is 9% p.a.
The consumer has not given his PAN number. What is the value of interest
credited if the consumer has given the PAN number?

07.05.2014 oM SMDUWPSS HISTCUT), Fa(BHed &HMUH  meulls
Qamemawimsg  €5.1,00,000/- Qs Huerenmy.  31.03.2015  sieaTmyeiTenLg.
HEICMBEG oeNEs Geustiqul el lgeml  Saus&(he.  2014-15 Sy
HHwimeomg e QI lgeNHFHD @ UBLSSNDG 9%. Qbs HSTCeur)
Hemeolimenr  HUNSHEG 6TeunEn6T  HIaNLemen. @QGCH HISTGeUT)  [Hlemeviimeot
HEWIHG  6T600I60TNen6TT  QUPHRIGUNBHSTL SNBSS QUPRISLILL.  Cel6TNq LI
QL lgs QFHTensUNEET H6u5HE (H'S.

A residential consumer with a connected load of 5SKW has the meter reading as
11500 on 22.08.2015 and that as 10300 on 24.06.2015. The static meter fixed
for the service connection displays the recorded demand on the reading date,
22.08.2015 as 6 KW. Calculate the assessment value for 08/2015.

5 &Ceomeurl et @emeuoiliy Q&mevi ef L 2 uGuins st HsTGeaumgler
22.08.2015 sistrsmmut LAstT ofenel (B 115004, @LD. 24.06.2015 istremmut  LH6T
slenal B 10300. @Qbg LOeT QenewrliNed QUIHSSLULL  Hemeowimest Lol
Slenel 22.08.2015 gistimy udle QEFuwILULL. CHLUTE 6 HGCem ML 1g.6me6st
SMLluig. @ns Wer Mm&FGeumfleor 08/2015 wrgsHuw uwief LG LN6L
(BL_L_6TTLD) Sieelenen SH6u0168)(h'S.

In a handloom weaving service connection, the meter reading on 25.06.2015 is
2390 and that on 24.08.2015 is 2680. Calculate the assessment bill amount for
the month 08/2015.

m&SHM CQnselsr Lhler @emsuorlifed 25.06.2015 syettm L6k LLemey 2390
upeell.  oi5IGe  24.08.2015 oi6om)  Lwlesk L emey 2680 ulesil. 08/2015
LMHSSMSTeTT L6k L enelledt SHLL6wiheng LEHINGS
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Define the following:
Q) Trading

(i)  Captive generating plant
(iii)  Distribution licensee
(iv)  Real time operation

S&&ELaumenm CGefeurs elenssea.
0] NWImUIMLD
(ii) SeoTLI6s LOlesT 2 MUSS) QGTLHELSLD
(iii))  u&gwomsr 2 Fow QuHMET
(iv) 2 eioremLowlimest GBI HL6)Ig &H60)5

What are the functions of Tender inviting authority?

euhgLLaTaf CaMHLL HSMHUNGT BHL 6L SMEHSHET 616316012
Briefly state the right to reject tender.

eUhgLiLsTaNulensr HITsH&EL 2 fenuNee SihEHSLNS Fomis.
State the requirements of a valid tender.

@UBSLILETON D& HHHHTEH C&HMEULILI(HLIHEUSEMET FoM)is.

State briefly on shifting of service connection/deviation of lines and shifting of
equipments as per DSOP.

et  QemeviliNenest  @LLOMTHOLD Qeuwweld/  SWLNUNen6TTLILEm 6T
LIHMIUSHEGSD WOMID GeTeurL hi&smer IOHMIL e DSOPullssr Ul 61(h&s
GoU6TTIg LI [HL_6)I.&6ME 6T60TGl6TT60T60T?

What is the quality of service and what is the action to be taken for a complaint
regarding quality of supply as per DSOP?

DSOPufiest g GaemeuuNest HrLd eT6otesr? OMHMID OGS  UEMHIGET6HT  HIJLD
G&M&GH HSTCUTH6T LUsT(HES 61(hHS GeuetiqUl BHL6IG &ENSHS6T 616016012
State the deduction u/s 80CCD(IB) of the Income Tax Act.

euomsn eufl FLLG&et 80CCD(IB) NfleNesr &p eubLomes eufluNedl b
505860 GHISS TBSG Famis.

Calculate the amount of development charges for the following new LT service

connection:
() Tariff 1l C with 3 KW sanctioned demand-single phase

(i) Tariff 11 B(2) with 25 KW sanctioned demand
(iii)  Tariff 111 B with 8 KW sanctioned demand
(iv)  Tariff I A with 2 KW sanctioned demand-single phase

Spanayid YHW SMDaPSS 6T QememiliLgeiled QFeishs Ceuetog i
QUATTESH SHLLGUILD ForM)5.

() 3 &iGeomeurm epliuefliy uesp - 11 C el sl g (e

(i) 25 &Geomeur. epliuefliy ues - 11 B(2) ef suulig

(iii) 8 &Ceomeur. epliuefiy ues - 111 B af slul'ilg

(iv) 2 &Geomeurl. eprineMiy e - | A ef SUUL 45 (LD6m6DT)
During the bifurcation of circles, how is the transfer of assets accounted?
hledT  LEJLOTET QL L Rismen  LNf&EGWL QUG  CETHSISET  eTeleuTM)
LIHOW QELIWIUILE SSSHLLIUGHADS 6T6TLMS Sam)s.
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